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In all questions, show work for partial credit and full credit.

quantum number (_L)’? (10 pts this number total, 6 pts) } e = — j}; L Ol + X

— = 0.+ %L

H / ?
J /

(b) The angular momentum quantum number (£ ) has a letter designation, if =2 @& what is the letter

oo, |, )
designation ? J& (4 pts) (, © ;oo 5, P

2. For the element, Se (24 pts total, 4 pts each letter) @)

(a) Give the electron configuration of the element above in the format, (1s? 2s% 2p°, ...))
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(b) Give the valence electron configuration of the same element in the same format.
5 Zi’ o ;’i\ s

L YD
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(c) Give fthe valence electron conﬁguratlon diagram for the same element showing a line for an o b qil
and up and down arrows for the +1/2 and -1/2 electrons /

(format required: 4 v 4 ) (format is not necessarily the answer) |/
is 2s 2p
(d) Hew many vaience electrons does the element have ? Q ,f

(e)

ity




3. Periodic Trends: (15 ptstotal, 5 pts each letter)

(a) Circle the element which has a larger atomic radius @,ﬂr (Ca) ] (circle one)

(b) Circle the element which has a higher first ionization energy [(K) or &Ca)]“/‘(circle one)
ol g on, — Kigae T €

(c) Circle the element which has higher electronegativi [@Lér (As)(circle one)
CF1s»05€  C©rd .
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(A) For the molecule below with the molecular formula (F Se H) | give the total number of valence

electrons in the entire molecule. (6 pts) I
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(B) Given the two possible Lewis Dot structures, circle the letter of the best Lewis Dot structure. (2 pts)
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(C) For the Lewis Dot structure w@ich you chose in part (B), explain why the one you did not choose is

incorrect by giving one problem with the bad Lewis Dot structure. (2 pts) T
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Gen Chem I (CHM 111) Fall 16 Dr. Hahn MW 8 am Quiz III Form Green 11/7 M Exam #

Name f/ ;' Z A Print Name %f\” - f\m Siﬁn

(12 pt print name) :’;}V (1/2 ptsign name) »

e

In all questions, show work for partial credit and full credit. C@TA - };> a d W “"j

1(a) Given principal quantum number, p = 3, what are all of the possible values of the ‘angular momentum
quantum number (£) ? (10 pts this number total, 6 pts)  § = ©, ... N~} (- = 2}

&\ ~ zijffég | L

T

designation ? (4 pts) f
[
K b
e T e -
2. For the element, Sh ( 24 pts total, 4 pts each letter)
(a) Give the electron configuration of the element above in the format, (1s°, 2s%, 2p°, ...)
(ed  Cl b2l 3 & L2 (o 4 e o2
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(b) Give the  yalenee. aleciron cenﬁouratmn of the same element in the same format.

! M/"“‘\
S C é’”ZCéﬁ%a w//

(c) Gﬁ'e the valence electron configuration diagram for the same element showing a line for an orbi
and up 3 and down arrows for the +1/2 and -1/2 electrons

(fi)rmat required: 4 ‘iv A ) (format is not necessarily the answer)
2s ) 2p "y
(d) How many valence electrons does the element have ? &?

(e) |  Give the Lewis Dot symbol (Lewis dot structure) for the same element by itself . e \7;3 ¢

(f) %Gwe the yalence electron conﬁguratlon of the anion Sb™®  in the same format as in (a) Above. — (
! — o
\ S5 b

%X _ L3 ;3




3. Periodic Trends: (15 pts total, 5 pts each letter)

(a)

....... <

J

(b) Clrcle the element which has a higher ﬁrst ionization energy (N a) or (K)] (cnrcle 0\757“\«%%@ —
NiGher € < 5 4l =
(c) Circle ﬁe element which has hmher ectmnegatwm C) or @j (circle one)

iy nesy € - C
4. Extra Credit: (10 pts total)

é@ R {,‘*%., &vi{(¢¥/

(A) For the molecule below with the molecular formula (H N Cly ) , give the total number of valence
electrons in the entire molecule. (6 pts) !
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(B) Given the two possible Lewis Dot structures, circle the letter of the best Lewis Dot structure. (2 pts)

o e .o s .
s s o s [ Ve Vi Ry I
e H=Nz—=Cl. H —“'—N"”"'""CIZ o %}é, -/ {) o
2 i @ \ % g Jgi?{,,*’%, %% - i
«Cl¢® =(Cl= )
@& %@ @ eo ®
@ oW
% i ® jr?{m s X ? g B g
b Lt

(C) For the Lewis Dot structure which you chose in part (B), explain why the one you did not choose is
incorrect by giving one problem with the bad Lewis Dot structure. (2 pts)
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Gen Chem I (CHM 111) Fall 16 Dr. Hahn MW 8 am Quiz Il Form White 11/7 M Exam #

Name Print Name Sign
(1/2 pt sign name)

(172 pt print nane)

In all questions, show work for partial credit and full credit.

1 (a) Given the angular momentum quantum number £ = 2 what are all of the possible values of the magnetic
quantum number (m,) ? (10 pts this number total, 6 pts)

(b) The angular momentum quantum number (¢) has a letter designation, if =2 ._ff_i:, what is the letter

designation ? (4 pts)

2. For the element, Se (24 pts total, 4 pts each letter)

(a)  Give the electron configuration of the element above in the format, (1s?, 252, 2%, ...)

(b) Give the valence electron configuration of the same element in the same format.

(c) Give the valence electron configuration diagram for the same element showing a line for an orbital
and up and down arrows for the +1/2 and -1/2 electrons

(format required: 4 v 4 ) (format is not necessarily the answer)
Is 2s 2p

(d) How many yalence electrons does the element have ?

(e) Give the Lewis Dot symbol (Lewis dot structure) for the same element by itself .

) Give the valence electron configuration of the anion Se in the same format as in (a) above.



3. Periodic Trends: (15 pts total, 5 pts each letter)

(a) Circle the element which has a larger atomic radius [ (K) or (Ca) ] (circle one)

(b) Circle the element which has a higher first ionization energy [(K) or (Ca)] (circle one)

(c) Circle the element which has higher electronegativity [ (N) or (As)](circle one)

4. Extra Credit: (10 pts total)

(A) For the molecule below with the molecular formula (F Se H) , give the total number of valence
electrons in the entire molecule. (6 pts)

(B) Given the two possible Lewis Dot structures, circle the letter of the best Lewis Dot structure. (2 pts)

&a & @ Qg e L
® Fr—Se—H eF. e~—He
P ew @ ®
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(C) For the Lewis Dot structure which you chose in part (B), explain why the one you did net choose is
incorrect by giving one problem with the bad Lewis Dot structure. (2 pts)



Gen Chem I (CHM 111) Fall 16 Dr. Hahn MW 8 am Quiz Il Form Green 11/7M Exam #

Name . DPrint Name . = Sign
(1/2pt print name) o - ’ (172 ptsignname)

In all questiens show work fcr'partial credit and full credit.

1(a) Given principal quantum number, = 3, what are all of the posszble values of the angular momentum
quantum number (2) 2 (10 pts this number total, 6 pts) -

(b) The angular momentum ?qﬁentum nﬁmb‘e: ) hasa letter designatiqh, ifg =2\ 0, What is the letter

designation? . (4 pts) .
| 2. ’Far the element, Sb (24 pts tetai, 4 pts each‘ leﬁer) '

(a)  Give the electron conﬁgfui'at‘ioh of the element above in the format, (1s?, 257, )

(b)  Give the valence electron configuration of the same element in the same format.

(©) Give the valence electron conﬁguranon dlagram for the same element showmg a hne for an orbltai
and up and down arrows for the +1/2 and 1/2 electrons '
(format requzred Av 'iv A

2s - 2p

) (format is not necessarﬂy the answer)

(d) How many valence elecfrth‘doesthe element have ?

() Givethe Lewis Dot symbol (Lewis dot stmcture)forthe same element by tself,

()  Give the yalence electron configuration of the anion Sh™ in the same format as in () above.




3. Periodic Trends: ‘(15 ptstétal 5 pts each Ietter)

(a) Circle the element which has a larger atom:c radms [ (N a) or (K)] (cucle one)

(b)  Circle the element which has a hlgher first 1omzatmn energz [(Na) or (K)] (c1rc1e one)

() Circle the element which has hlgher electronegatmg [(C) or (O)] (czrcle one)

4. Bxtra Credit: (10 pts total)

(A) For the molecule below W1th the molecu}ar fcrmula (ﬂ N Clz ) give the t(y)tal:hﬁmber 'Qf ‘v'aklenkce -
electrons in the entire molecule (6 pts) . . -

(B) Given the two possible Lewis Dot Strqctures, circle the letter of the best Léwis Dot structure Q ’pkts) .
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(C) For the Lewis Dot structure which you chose in par’c (B) explam Why the one you dxd not choose is
incorrect by giving one problem thh the bad Lew1s Dct structure (2 pts)




